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REGION IV OPERATING TEST JOB PERFORMANCE MEASURE QUALITY REVIEW MATRIX
1. 2. 3. Attributes 4. Job Content 5. 6.
JPM# Dyn LOD Errors Explanation
(D/IS) | (1-5) U/E/S (See below for instructions)
IC Cues | Critical | Scope | Over- | Job- | Minutia
Focus Steps | (N/B) lap Link
PART A
STAFF02 NA 2 v E |Step 20 appears to be critical
PMS001* NA 2/1 S/U | Does not discriminate for SROU
CNMT1* NA 32 S
STAFF01* | NA 2 S
Leakrate01* | NA 1 v v U |Weak initiating cue. Minimal diagnostic application required. Scenarios contain RCS leakage that
result in similar EAL
PART B
AACSU* S 1 N U [Simplistic task w/ only one critical step. Discriminates too low.
AFWO001* D 2 v E |Steps 3, 12, 14, and 15 appear to be critical
CvCs1 S 2 v E | This appears to test the same system knowledge and ability as event 4 of scenario 1
CCPO1* S 2 v v E | This appears to test the same system knowledge and ability as event 2 of scenario 1. Steps 4, 6,
and 9 appear to be critical
CEAO03* S 2 v E |Steps 3, 8, 10, and 14 appear to be critical
H2001 S 2 4 E | The critical performance attribute for operating the H2 recombiners is to attain the proper operating
temperature. Calculating the correction factor is a facilitating activity but is not critical.
PZR02 S 3 S
RCP02 S 3 S
LRWLR* S 2 v E |Step 8 appears to be critical.
SWCSP S 1 U [Simplistic task. Discriminates too low.
(*SROU)
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Instructions for Completing Matrix (Complete for either all items or all items requiring comment):

Determine whether the task is dynamic (D) or static (S). A dynamic task is one that involves continuous monitoring and response to
varying parameters. A static task is basically an system reconfiguration or realignment.

Determine level of difficulty (LOD) using established 1-5 rating scale.

Check the appropriate box when an attribute weakness is identified:

. The initiating cue is not sufficiently clear to ensure the operator understands the task and how to begin.
. The JPM does not contain sufficient cues that are objective (not leading).

. All critical steps (elements) have not been properly identified.

. Scope of the task is either too narrow (N) or too broad (B).

. Excessive overlap with other part of operating test or written examination.

Check the appropriate box when a job content error is identified:

. Topics not linked to job content (e.g., disguised task, not required in real job).
. Task is trivial and without safety significance.

Based on the reviewer’s judgment, is the JPM as written (U)nacceptable (requiring repair or replacement), in need of (E)ditorial
enhancement, or (S)atisfactory?

Provide a brief description of problem in the explanation column.
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